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0 CO>0973 NMHC0.067 THC-0.083 NOx>0.058 PM>0.0048 N>99 Na»77 FE<3.5
1| 0.9732C0>0.519 | 00GTZNMHCS0052 | 0.083 2 THC.059 1 00552 NOx>0.039 {0.0048 2 PM>0.0026] 992 Ns>88 | 77a2NaxT3 | S.55FEB.
2| 1.5192C0>0404 | O0SZ2NMHC:0043 | 0.059= THC0.053 | 00392 NOx>0.033 10,0262 PM>0.0019 | 882 Ns>8d | 732 Nax72 | 815FEQ3
3| 0andzCO>0347 | OMIZNMAC039 | 0053 2 THC-0.046 | G033 NO0x>0.028 10.0019:2 PM>0.0015 842 N8l | 732Nw72 | 9.3&FE<I06
4 D3472C0502302 | QOOZNMHCOBS | 00462 THCS0.042 | GOZ8ZNOx>0.021 10.0015% PM>0.0012] 812 Ns>79 | 722 Nax7] |I06EFE<ILY
5[ 03022 C0>0259 | 00352NMHCAOMI | 00422 THES0.038 | 0.021 2 NOx>0.017 [0.00122 PM>00008 | 792 Ns>T8 | 722 NasTl |1198FE<I3S
6 | 0.259=C0>0220 | 0031 2NMHC0029 | 0038 = THC>0.034 | 0.0172NO0x»0.013 [0.00082 PM-00005 | 78&Ns»76 | T1&Nax70 [13.58FE<]44
7| 0.229=C0-0.189 | O00RNMHC0025 | 0.0342 THC>0.030 [ 00132 NO0.000 {0.00052 PM0.0003| T62Ns>74 | 70ENa-60 [144 SFE<IS6
8| 0.1892C0>0138 | 00252NMHC0019 | 00302 THC0.025 | 0.0092 NOR>0.006 {0.00032 PM>0.0001 | 742 Ns>72 | T0&Na>69 1565 FE<1T4
9 [ 0.1382C0>0030 | CO92NMHC0000 | 00252 THCS0.005 | 0.0062 NOx=0.002 {00001 2 PM>0.0000| 722 Ns>66 | 692 Nexb7 | 174 =FE<SAS
i0 0.0302C0O 0.000°= NMHC 00052 THC 00022 NOx 0.00002 PV 66 Ns 672Na S46SFE
&R 2016 AUFRBERARNRE
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2017 BEERBREREREZELTE NS
3185 BHETRE vl g B
GHNLFA11-17 HONDA ACCORD HYBRID 1993c.c. A1 4D g8 |10 | 9 27
GINZ-FXE-14  [TOYOTAPRIUS C 1497c.c. CVT 5D (HYBRID) 8|9 9 26
G2ZR-FXE-A13  |LEXUS CT200H 1798c.c. CVT 5D HYBRID g8 19 9 26
G2ZR-FXE-16  |TOYOTA PRIUS ALPHA 1798c.c. CVT 5D HYBRID 9|7 9 25
G2AR-FSE-14  |LEXUS GS300H 24%4c.c. CVT 4D HYBRID 718 9 24
G2AR-FSE-16 LEXUS RC300h 2494c.c. CVT 2D HYBRID 718 9 24
G2ZR-FXE-A16 [TOYOTA PRIUS 1798c.c. CVT 5D HYBRID 6|9 9 24
GHapl1-14  [VITSUBISHTOUTLANDERPHEVI998ccAISD | 6 | g | 10 | 24
GZAR-FXE-14  |LEXUS ES300H 2494¢.c. CVT 4D HYBRID 6 | 6 9 21
2017 SREREREREREZEASIZEY
B85 BHEH | oo |G| aw
AE CITY 1.5V 1497c.c. CVT4D -
GHNL15711-15 |#H CTY 1.5VTi1497¢.c. (VT 4D - 7 9 9 25
KE CTY 1.5 VTi-S 1497¢.c. CVT 4D
AE HT1.55 1497cc. CVT 5D -
GHNL15Z41-15 |RE FT1.5VTi 1497c.c. CVT5D 6 {8 9 23
FHB AT 1.5VTi-S$1497c.c. CVT 5D
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0 co>210 HC > 0.5 NOox > 0. 15 Ns > 94 Na > 80 FE < 13.4
1 2202005151022 RC>083(0.15=2N8x>010094 = Ns>90/(80 = Na>79] 18.4 < FE < 16.4
2 1. 2€C€0>14|10.3=H>0.2(0.16 = N0x>0,00090 = Ns>88|7% = Na> 8] i6.4 = FE< 18.7
3 1.4 2C>1L1|0.3=2HC>0.2[0.09 = N0x>0.0808 = Ns>87|7 =Na>T7liB7 = FE < 22,7
4 1.l 2C0>10)0,3 = H >0.2|0.08 = N0x> 00787 = Ns>85(7T8 = Na> 77227 = FE < 27,0
5} 1.0 =200>09103=ZH>0.2 1007 = K0x>00608 = Ns>83|77T = Na>T6] 270 = TE <357
6 0.9 2C0>08(022H >0.1|006=Nx>005083 = Ns>82(76 = Na> 70357 = I <40.1
i 8.8 2CO0>0.7(0.2 2 HC>0.1[06.06 = NOx>0.05082 = Ns>81[75 = Na> 74 40.1 =TL < 43.2
8 0.72C0>00(02 =z H>01 06052 Nx>004)8 = Ns> 79|74 2 Na>T3]43.2 = TE <459
9 .6 =20C0>03|102=HR>0.1 (004 = N0x>001079 = Ns>76(73 = Na>5b9] 45.9 = TE < T8.8
16 0.3 = CO 0.1 = HC 0.0 = NOx T6 = Ns 69 = Na 78.8 = FI
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N ) 1% BFS R YRIZ5M 124c. o, CVT - |
B (12427815 ) s CYONUS-X NKCI25R 124c.c. CVT 919 8| =
=5 G100AVC-16 | =5 W00 WJ10U3 10L. 1o.c. CVT 9 18 9|
N ] 1% AXIS Z LISLZ5 124c.c. CVT -
aMl R (GIZA21S-16 || o AYIS 7 LTSIZ54 124c.c. OV T8 %
% {E8E IS AS39-31T 150. 1c.c. CVT -
%48 [G150T31P-16  |%4EME ESI50 AS39-31T 150.1c.c. CVT - 9 | 9le6 | 24
% 4LH 0ZS150 AS36-31T 150. Lc. c. CVT |
%M Dasy 100 SP20AL 101.7c.c. CVI-
_. _ . |%M So Easy 100 SP20FB 101.7c.c. CVT -
b G1005P20-09 | e o Fasy 100 SP2OFE 101. 7. c. CVT - [
%M %% % Easy 100 SP20AB 101.7c.c. CVT
Z8 JET S FKI2V1 124.6c.c. CVT -
=t G125FZA-15  |=Mp JET S FKI2V2 124.6c.c. CVT - s |71 7| 2
=# JET S FKI2V3 124.6c.c. CVT
=% G125764-14  |=M Z1 125 FGI2V3 124 6c.c. CVI 6 | 8|38 | 2
%% RACING 150 SR30BC 149c.c. CVT -
e G150SR30-09 |5 RACING 150 SR30BD 149c.c. CVT - s|el7!| 2
%t RACING 150 SR0BF 149c.c. CVT
_ i R45% 7 TIGRA AF-125BCE 124, 6c.c. CVT -
REH7 (G1Z0A1-14 Vg e TIGRA AF-125BIE 124. 6o, o, CVT 682
) =% aii 110 FZ1101 1lc.c. CVI-
=0 GLIOAZA=14 ' e 165 110 FZ1IW1 1llc.c. CVT 6178 2d




